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77127 agrees to the reason of X2" - X297 799 nOR 720

OVERVIEW

One of the basic disagreements between 77127 and X217 is whether °177 V7 or
not.! X171 maintains that if two 0>7¥ say we recognize the 72°nn >y of the 3,
that is sufficient and it removes the need to say 1"921 1"92. Therefore, since
"17n 11T, there is a wwi of TR w2 RAYYT NMLW 21Ra 012K, To prevent this
"1917°R we have the m°9w also say 2n21 °192. However, 721 maintains that 1137
177 XY, therefore there can be no *9%m°X and there would be no need for 192
an21if the reason was only 01’ 2wn. That proves, according to 7127, that 1"952
1"921 is said (also) 7awh own.

The X3 here concludes that since 82377 7 n°X 720, therefore it is
understood why 1"921 1"92 is required °"X2 X172 XN, Our MODIN
questions that assumption.

n»doIN asks:
= NIIMHIND N21NMINMN ANI) 2392 NATY 7298 INNN 9INN ON)

And if you will say; why does 729 require the saying of 2ans1 %192
(specifically) when a 03 is brought 811723779 X112377%? The two N1Iman were in
»"R. There is no wwn of nnwY. There is only a wwn of arp. To resolve the wwn of arp,
only onmi °191 is required not 2021 °192. According to 827 who is concerned about *2171°X —
that we may confuse M VW XY with 2°w1 *v°), and maintain that by m7vYw XY one 7V is

sufficient,? it is understood that 2n21 °192 is said to prevent that there be no 97X -
= 9379 RD NPT 119 9IVNINY YN XY Ha9 NN

However, 1721 is not concerned that there may be confusion between 7°0°3
and M1VW XY since according to 7127, even if two 077V say we recognize the

signatures, it is not sufficient.’> Therefore there is no wwn of *019mx. The question
is; why is 2n21 °192 required?

N190IN answers:
- 5915NIN DIV ANDY 5392 PIPHN 11 XY AINNNT 1Y Y

!'See previous X,3 X113 and the N19OIN there XM 0K X7 71"7 .
2 x27 is of the opinion that My7 is valid by v, It is also valid by mvw xw. Therefore, if 2031 %192 were
not said, people would assume that anm1 °191 is a regular o1p. They will then mistakenly assume that even
by n1vw IRW one 7Y is sufficient for arp just like by 77v°3. See 0K 71"7 K,3 NM2OIN.
3 We must maintain that even according to the X1p0n that X397 % MR 727, nevertheless 7277 37 K2 YT,
Otherwise, why does not 7121 completely agree with X231 that the ovv is only ovp 0w and not 7nw? Dwn at
all? See ¥ 7"7 X,2 MmdoN. See: ‘Thinking it over’.
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And one can say; that initially the 22517 would not have instituted that

the V37 MY also say an21 %192 on account of our concern for S¥9mR. As

mentioned, 727 is not concerned about - #9151
= DNIYY NN X DIPN D93 9INIY PN DN NI NNV DIVN 1PPNT )19 DaN

However, once the o°»on instituted that 2021 °192 needs to be said 3'';1712
on account of aw» (for the people of >"7111 are not >p2 in 7AWY); the oan

already instituted that it be said everywhere even in >''R; where there is no
inherent need to say 2n21 °192. Nevertheless, the 0°251 wanted to institute a universal 71pn
to avoid any confusion.

SUMMARY

Even if the reason for saying 1"92 is (also) 01 0Wwn, nevertheless (according
to 1727), only ann1 °192 would be essentially required in >"X and not 20231 *192.
There would be no need to say 2n21 °192, for since °1n X2 17, there will be
no °07mK, and in "X they are nnw> PX°Pa. However once 2n21 °191 is
required °"17712 on account of 7nw?, the 0’ instituted it even in "X,

THINKING IT OVER

oo claims according to 727 that *37m X% av7.° Perhaps this can be
qualified; that °37% R 1v7> according to 7127 only in "7 (where there is a
concern of 7mw9) but in "X perhaps even 727 agrees that *3n 7.
Therefore there is a wwn of *017m°K.” That is why 2021 °192 is said °"X2; not
because of 2175 X7 as NN maintains.

“ This is the reason why 127 still disagrees with X271 who maintains that the only reason for saying 1"92 is
arp 0wn. 7121 however claims that if that were the case, 2121 *192 would be superfluous.

3> See footnote # 3.

61197 is *177 in *"X because there is no concern of 7aw».

7 See >"2 ,q" W 2", TR X"WIY, et al.
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